UM

LINE FILTER

7 MPa

Quick delivery of filters in ] with mineral oil use.

1. Maximum operating pressure: 7 MPa Please contact us on delivery time for others.
y
Impulse test: 7 MPa x 107 times > Model Code
2. Easy to replace elements for upward removal.
Ky M 0
3. E!er:nents are common to all “U” Series (UL, UM, UH). Fluid Tvoe UM Inner Filtration Option Flow _
4. Piping method is common to thread type and flange type. yp Diameter Rating Direction
Companion flange is available in additional option. | |
5. Flow direction can be changed by turning Cover-ASSY 180
degrees. ‘ I
6. Please contact us for use of fluids other than mineral oil on Code Fluid Code| Inner Dia. Code |Filtration| Media | | Code |Filtration| Media Code |Relief Valve Code |Flow Direction
packing, O-rings and other parts. Blank Mineral oil 03 | Rc3g (10A) P gg 3 microns 50UW)| 50 microns vV With Blank |Left—right
y - Rclh (15A * 8 microns| C fiber 200W | 200 mesh| ,,. K None L [Right—left
F Phosphate ester-based OII| 04 Rc3/2 EZOA; 5256 25 mioons B 150 mosh (:/L.Jrg)
G Water glycol-based oil 06 | Rey Ye[ 10U [10 microns 100W | 100 mesh Code | Magnet
- 08 | Rel (25A) % | 20U |20 microns| Paper 60W | 60 mesh : Blank | None
Max. differential Option 10 | Retly (32A) | | 40U |20 microns 50UK | 50 microns Code In.d|cator Model M With
pressure of element| Indicator pressure (All red) | Relief valve opening pressure 12 | Re1lk (40A) 5UW | 5 microns 200K | 200 mesh Blank B'\l;jd Pltllg -
. TOUW] 10 mi i 150 mesh | Notch ! isual | 1A-3 | "]
0.7MPa 0.3MPa 0.35MPa Coding Example 16A | Re2 (50A) microns) Wire 150K | 150 mesh} oS E | Electric |[EA3 Code [carperion Fenge
g 208 | Re2 T, (65A) 20UW/ 20 microns| (SUS) 100K | 100 mesh Bkl N
G-UM-08 -10U-IVN 40UW| 40 microns 60K | 60mesh p | Electric o) o0 one
B 24B | Rc3 (80A) (for micro capacty) N With
M Part List 3 3C:33=200 % Notto be used with water glycol-based oil.
22 O-ring NBR 1 JIS B2401. 1A 8C : 8= 200 YFilter media used for water glycol-based
i 25C : 325 = 200 oil differs from that for mineral oil.
21 O-ring NBR 1 JIS B2401. 1A
20 O-ring NBR 1 JIS B2401. 1A G-155 > Spares
19 Indicator 1
18 Cap bolt SCM435 8 Option
17 | Companion flange SS400 2 . Element
uid Type : Filtration Ratin
15 O-ring ” 1 P 1A P yp UM Diameter 9
14 O-ring ” 1 + 1B Coding example :  P-G-UM-08-10U
Detail of mount 13 O-ring ” 1 z 1A
Mout W 12 Q-fing - ! LA B Sealing parts set
 — 93 /5y |y Centerof piping " O-ring z 1 e 1A ) o o
o r{ = @Y um %8 ZER 10 O-ring NBR 1 JISB 2401. 1A @ For element replacement (Part No. with © in “Element and O-ring” .)
[ -t 2-d2x 4 Ta|
i R -~ [PuiaType
o & - W, 8 | GiBdainplg | SCM435 | 1 | UM-10~24B:G), SP Fluid Type UM Diameter
o — 10 il :
L He =+ oH 12 T ST center of piping 7 | Spring holder | $S400 ! : Coding example :  SP-G-UM-08
= . T‘ UM< 1eA —E T4t 6 Spring SWPA 1 Option
248 f/ U 5 Relief valve SECC 1
4-d:x2Ta 4 Element 1
@ For overhaul
J 3 Inlet ADC12 1 I
. nner H
4 5 2 Cover FCD500 1 SA—— | Fluid Type UM — | Option
g 1 Body FCD500 1 . }
= »g}fN PartNo| Part Name Material | Qty Remarks Coding example :  SA-G-UM-08-N
g zan ik - .
g \%), :[x B Element and O-ring Code |Companion Flange
w ﬁ} Nd art No © o o ) Element
i-de L Bolt Mods 10 (11 |12 | 13|14 |15 | 16 | 21 | 22 e Blank! None
.- M- I
( SM gi G-30 G-30 853 | 622 N With
@9 — 1 G-70 P-32 |P-14 G-40
uM-06 G-40 G40 1553 62.2 » Flow Rate Chart
“% 3% Part of screwing lower case into UM-08 P.18|p-14
body of UL-208/248 uM-10] o T os] s 555 2045 822 @®ISO VG32 @ Viscosity: 32 ¢St (40TC)
UM-12 G-25|G-457" 7| °°
UM-16A|G-110|G-65 | G-60 |P-18 G70 2545[102.2 Common to Models UL, UM and UH
ﬂm-zgg G135 G905 | G-80 G100/G-30|G-55| 3045 | 124 (Except for UH-20 and UH-24)
. .. Filtration Rating 3 Microns (3C Filtration Rating 3 Microns (3C)
#xHs height of indicator: Model I...36, Model E...91 s 9 36) s 9
Add this height to the element allowance E. 03 /1 04 /n' ' 5 D 204
. . A L1
® Dimensions and Standard Flow Rates A ,: Jos / 12 A P T
Symbol Element Companion Flange (Option) Mass | Standard Flow Rate 3 A A 3 / 2
Iovance " / % Y ) Z
Model d HH|H]A B CIDJW]alb Xt e |ds s [T |P|F|J]| K| dexo |ke¥| (&/min) s o 1117 AKX S ot y/ v A
UM-03 | Rc3% 178 25 g /1LY A g 7 /1
2 M10X . g 4 g 7
UM-04 Rl 195| 49 | 146|120 (116 | 61 | 92 | 45 M10X15 | 190 255 11|21 |48 | 24 | 70 | 52 0X35| 8.9 24 % y // ,// % P —
M-06 Rc3, 277 3 (A 3
v %1 576| 54 [222] 125|116 | 61 | 92 | 45 M10X15|280 (221 14 | 27 | 56 | 42 | 82 | 72 |M12X45 |11.4 |—22 300 (V.ARD” g 00 AREP>
UM-08 Rc1 345 100 & 2 & v.apy
UM-10 Rct 1y 43.2 155 / / i
293|170 (151 | 78 | 122 | 60 | 20 | 25 | M10X15 — 31 88 | M16X55 (227
oMz | rort, || €8 360 77 16 74 | 52 | 102 180 ) / ,f 0 VoA
UM-16A | Rc2  [433] 75 [358]180 [ 150 77 [132] 64 [ 20 | 30 [M10X15]430 [61.1] 11 | 24 [ 76 | 52 [ 100 | 94 [M12X45[215] 360 0 2 20 a0 20 00 10 140 0 0 200 a0 a0 e 70 s
o 1
UM-20B | Re2> | 5pg| g6 | 432|215 | 176 | 95 |1652| 90 | 25 | 40 [M12x20 |530 L2H 15 | 31 | 102 | 80 | 134 | 126 | M16X60 | 37.0 660 Flow Rate (/min) Flow Rate (2/min)
UM-24B Rc3 90.0 660

%Mass(kg) does not include companion flange.

25 26





